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Answer any five questions only.

(01) (a) "Even though Cost Accounting is a sub system of management accounting there

can be seen clear differences between management accounting and financial

accounting" Briefly explain the differences and the similarities of the above
mention three fields.

(08 marks)

(b) You have been asked to install a new costing system in a certain manufacturing

business. What practical difficulties would you expect to meet and how would

you propose to overcome them?

(06 marks)
(¢) The following data were relate to a particular stock item.
Normal usage 110 per day
Minimum usage 50 per day
Maximum usage 140 per day
Lead time 25 - 30 days
EOQ 5000
Calculate (1) Reorder Level
(11) Minimum stock level
(iii)  Maximum stock level
(06 marks)
(Total 20 marks)

(02)  From the Cost Accounting records of a light engineering factory having two service
departments S.D - 1 and S.D 2 and two production department P.D. - A and P.D. - B, the

following information had been obtained.

SD-1 S.D-2 P.D-A P.D-B
Floor Area (Sq. meters) 500 500 1000 2500
Value of plant and machinery (Rs.) | 10,000 15,000 2,40,000 1,12,500
Effective load (kw) 20 30 150 50
Direct Labour hours - - 70,200 1,09,800




Budgeted expenses for the year

Rs.
Indirect wages 50,000
Indirect Material 28,000
Power 200,000
Lighting 9,000
Repairs :Plant and machinery 30,200
Repairs : Buildings 10,800
Insurance : Plant and machinery 10,000
Insurance : Buildings 5,000
Rates and Taxes 3,600
Depreciation 45,300
General : miscellaneous Expenses 19,100

The following additional information is available.

(a) Indirect wages include the wages of 4 workers in S.D. - 1 and six workers in S.D.-
2. The average wages per worker in both cases being Rs. 2,500 per year. The
balance of indirect wages relates to those workers serving both the production
department and it is estimated that on an average the requirements of P.D.-B takes
up 40% of their time.

(b) Indirect materials include Rs. 10,000 and Rs. 6,000 used exclusively in P.D.-A
and P.D.-B respectively, the balance being attributable to all the four department
in equal proportions.

(c) General expenses are to be apportioned to only the two production departments on
the basis of direct labour hours.

(d) The benefit of work done in each service department is shared by the other
departments in the following ratio.

SD-1 | SSbD-2 | PD-1 | PD-B
S.D-1 - 20% 50% 30%
S.D-2 - - 80% 20%

You are required to prepare a statement showing the apportionment of overhead
expenses to the departments briefly indicating the basis of such apportionment of
each item of expenses. also compute relevant overhead absorption rates for P.D.-
A and P.D.-B

(20 marks)

A firm manufactures component LH 500 and the costs for the current production
level of 50,000 units are as follows.
Costs per unit

©03) (@

Rs.
Materials 250
Labour 2.25
Variable over heads 1.75
Fixed over heads 3.50
Total cost 10.00




(04)

(b)

(a)
(b)

Component LH 500 could be bought from outside for Rs.: 8.75 and, If so, the
production capacity utilised at preset would be unused. Should the firm
manufacture or purchase component LH 5007

(06 marks)

Calculate the earnings of workers A and B from the following particulars for a
month and allocate the earnings to each job x; y and z.

A B
Basic wages. Rs. 100 Rs. 100
Allowance 50% 55%
Provident fund (on basic wages) 8% 8%
Employee's Insurance (on basic wages) 2% 2%
Overtime 10 hrs -
Idle time and leave. - 16 hrs.

The normal working time for the month is 200 hours. Overtime is paid at double
the normal wages plus allowance. Employer's contribution to Insurance and
provident Fund are at equal rate with employees' contributions. The month
contains 25 working days and one paid holiday. Two workers were employed on
jobs x,y and z in the following proportions.

Job X y z
worker A 80 60 60
worker B 100 40 60

i

Overtime was done on job "Y"

(14 marks)
(Total 20 marks)

Why is the marginal costing approach suitable for analyzing short run decisions?

(05 marks)
The summarized Income statement for Tweed Ltd for the last year is as follows.
Rs. 000 Rs. 000
Sales (50,000 units) 1000
Direct materials 350
Direct wages 200
Fixed production overhead 200
Variable production overhead 50
Administration overhead 180
Selling and distribution overhead 120 1100
Profit/(loss) (100)

At a recent board meeting the directors discussed the year's results, following
which the Chairman asked for suggestions to improve the situation.

You are required as Management Accountant, to evaluate the following
alternative proposals and to comment briefly on each.

Pay sale agents a commission of 10% of sales and thus increase sales to
achieve breakeven point.

(06 marks)
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(b)

ii.

iii.

Reduce selling price by 10%, which it is estimated would increase sales
volume by 30%
(04 marks)

Increase direct wage rates from Rs. 4 to Rs. 5 per hour, as part of a

productivity per pay deal. It is hoped that this would increase production and
sales by 20%, but advertising costs would increase by Rs: 50,000.

(05 marks)

(Total 20 marks)

A firm is considering three projects each with an initial investment of Rs. 2000
and a life of 5 years. The profits generated by the projects are estimated to be as
follows.

After tax and depreciation profits.

Year Project I Project 11 Project I11
1 400 700 300
2 400 400 300
3 400 300 300
4 400 300 400
5 400 300 700
Total 2000 2000 2000 |

Calculate the accounting rate of return (ARR) on Initial Capital.
(06 marks)

EZ, Limited, well established in the express parcel delivery business, is evaluating
a new venture, the establishment of a motorcycle courier service offering one day
delivery. The venture would require the purchase of a building for Rs. 250,000
payable immediately. The building would need alterations casting Rs. 150,000 to
enable it to become the control & distribution centre for a venture. The
alterations would take a year, and operations could not commence until the
building was ready. Immediately after completion of the building EZ Limited
would take delivery of 100 motorcycles at Rs. 4000 each and engage riders.

Fixed costs are expected to be Rs. 750,000 per annum and a variable cost of Rs.
1/= per packet. Fixed costs are expected to increase by 8% per year and variable
costs by 5% per year. Emphasis that business will enable to earn a profit after
completing the 02 years. Rs. 50,000 working capital would need to be injected
immediately prior to the starting business and expected to realize at the end. A
market research survey, suggests that the price per packet should be Rs. 8. At this
price the following numbers of packets are forecast.

Expected packets per year (000)

2nd year 160
3rd year 190
4th year 210
Sth year 230
6th year 260.




(06)

(07)

(a)

(a)

over the next six years, EZ Limited's cost of capital is expected to be 15% per
annum. The board wishes to evaluate the venture over the first six year of
operations, at the end of which the realizable value of the venture as expected to
be 1 million.
You are required to calculate the expected net present value of the venture for the
first six years of operations. Comments on the project.
(14 marks)
(Total 20 marks)

PYE: Ltd. intend to produce a very colorful bag. The company is interested in
presenting its budget for the second quarter of 2009.

The following information's are made available for this purpose.
a. It expects to sell 50,000 bags during the second quarter of 2009 at the
selling price of Rs. 9 per bag.
b. Each bag requires 2.5 Kgs of a raw-material called Q and 7.5 Kgs. of raw
material called R.
c. Stock levels are planned as follows.

Beginning of quarter End of quarter
Finished bags (Nos) 15,000 11,000
Raw material Q (Kgs) 32,000 26,000
Raw material R (Kgs) 57,000 47,000
Empty bags (Nos.) 37,000 28,000

d. Q costs Rs .1.20 per Kg, R costs Rs. 0.20 per Kg and empty bag costs
Rs.0.80 each.

e. It requires 9 minutes of direct labour time to produce a one bag labour cost
is Rs. 5 per hour.

f. Variable manufacturing costs are Rs. 0.45 per bag. Fixed manufacturing
costs Rs. 30,000 per quarter.

g. Variable selling and administration expenses are 5% of sales and fixed
administration and selling expenses are Rs. 25,000 per quarter.

you are required to;
(1) Prepare a production budget for the second quarter.
(03 marks)
(il)  Prepare a raw-materials purchase budget Q,R and empty bags for
the said quarter in quantity as well as in rupees.

(06 marks)
(i)  Computer the budgeted variable cost to produce one bag.
(03 marks)
(iv)  Prepare a statement of budgeted net income for the said quarter.
(08 marks)
(Total 20 marks)

"Ratio analysis direct attention to areas where there are inefficiencies and thus it
provides a valuable service for the organization." Do you agree with this
statement? Briefly explain.

(04 marks)
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(b)

You have been furnished with the financial information of Sinthatic Ltd for the
year 2009.

Balance Sheet as at March 31° 2009

Liabilities Rs. 000" | Assets Rs. "000"
Equity share capital (Rs. 2000 Plant and equipment 1280
100 each)
Retained earnings 736 land and buildings 160
Sundry creditors 208 Cash 320
Bills payable 400 Sundry debtors 720
Other Current Liabilities 40 Less : Allowances 80
640
Stock 960
Prepaid insurance 24
3384 3384

Statement of Profit for the, year ended March 31* 2009

Rs. (000)
Sales 8000
Less: Cost of sales (6160)
Gross profit on sales 1840
Less: Operating expenses (1360)
Net Profit 480
Less: Taxes (0.35) 168
Net profit otter taxes 312

Sundry debtors and stock at the beginning of the year were Rs. 600,000 and Rs.
800,000 respectively.

Determine the following ratios of Sinthatic Ltd.

(1) Current ratio (ii) acid - test ratio
(iii)  Stock turnover (iv)  Debtors turnover
v) Gross profit ratio (vi)  Net profit ratio
(vii) Earning per share (viii) Rate of return on equity capital
(16 marks)
(Total 20 marks)
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